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HEN

O0 (D000000000o0oooo 22000000 2.80)

OO0 ICcROOODOOOO C*-000 k:I>s—k(s)eRD
00000000000000000000000 4:1—>R?
0000000 k(s) DOOODODODODODODOODODOOOOOOO
0000 R?20000000000000O000O00O000000

gd
0000 ~:I—-R*000 k0000000

_daG030) (o d
IO ( dt)

0000000000000 D0000 4(s) 0000

K(t)

() = det(/(5),7"(5)) ("-%)
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obobobbobboooodd
00000 sO00000000 k(s)000000000000

v(s) := /S (cos(u),sinO(u)) du, 0(s) := /8 k(u) du.

50 0

Q
so 0000 A:0000D0~(se) = (0,0), v/(s0) = (1,0) D000

Q

gbobobobobobobobo

A:+(s) 0000000000 4/(s) = (cosf(s),sinb(s)) OO0
000 6(s) 0000000000000 det(y,7")=¢ 00O
00 k=60
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001-1(0000)

00
0000 4(s) (s000)0000 1000000000000
000

k(s)=1, 0(s) = / du=s, cosf(s) =coss, sinf(s)=sins,
0
m(s)z/ cosudu = sin s, y(s)z/ sinudu=1—coss
0 0

v(s) = (sins, 1 — cos s)
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0o 1-1

HEN

0000 ~(s) (s000)0000 1/(1+s%)02/(1+s>) 000
0000000000000000

1 S du -1
k(s) = I 0(s) = /0 =tan"" s,
cosf(s) = costan!s = ! L
V1+tanZtanls V142
sinf(s) = cosf(s) tanf(s) = i

Tt
x(s) = / cos O(u) du = log (5 /14 s2> 7
0

y(s) = /Ossine(u)duz V1i+s2-1
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r(s) = 5

v(s) = (z(s),y(s)) = (log (s +v1+ 52) V1482 — 1)

> JOooood
> OO0 catenary.
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00 1-1 (2)

HEN

0000 ~(s) (s000)0000 1/(14s2)02/(1+s%) 000
0000000000000000

2 5 du 1
H(S) = m, 9(8) = /O 1 T u2 = 2tan S,
1—s?
6(s) = cos2tants = —
cosf(s) =cos2tan” " s T 52
2s

sinf(s) = cosf(s) tanf(s) = 1552
z(s) = / cosO(u) du = 2tan"1 s — s,
0

y(s) = /08 sin A(u) du = log(1 + s%).
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> 00000 clothoid
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0o 1-2

HEN

0000000000000 000000 «(s) 0000000
00 acoss+b (e, b000)0000000000
Y(s+2r)=Av(s)+a 000 A€SO(2)0 acR?200000
O000000AD @ b00000000000000

» 00 k(s) DOO 27 0000
> Y(s):=7(s+2m) 0000 A(s) DOOO k(s).
> 0000 00doooooon

v(s+27m) =7(s) = Ay(s) + a (A €SO(2),a € R?)

goood
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0g 1-2
v = (cosf,sinf) OO0 OO 0 =k0O

s+2m
/ k(u) du = 2mb,

(st 273

cos2mb —sin2wb\ [cosf(s)
sin27rb  cos2mwb) \sinf(s)

cos2wb —sin 27rb)

0(s+ 2m) —0(s)

(cosole 200

/ _ / -—
7' (s 4 2m) = Ay'(s) A= (sin 2rb  cos2mb
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0o 1-2

v (s 4+ 271) = AY(s) A= <

v(s 4 27m) = Av(s) + a.

cos2mb —sin27wb
sin 27b cos 2mb

> A0DD00O0DDOO0DOO0O0O0
> o 00000 0O0O0O0OO0OOONO
» A=I0a=0000 vy(s+2m) =~(s)0 0000
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0o 1-2

v(s 4 27) = Av(s) + a.

> ADOJDDOO0OOOOOOOOOO

> o000 00O0O0OOOOOOOO

> A=I0a=0000 v(s+2r) =~(s)00000
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